0218214 - © 2018 Sport-Thieme GmbH

Assembly instructions A 230 720

Trolley

for Free-Standing Goals

Thank you very much for choosing a Sport-Thieme product!

Please read the instructions fully before you assemble the equipment, so you can enjoy the product and safety is guaranteed.
We are happy to answer any questions you may have.

®
.TH|EME D-38367 Grasleben - German
sp‘o‘“ /

School Sports - Club Sports - Fitness - Therapy sport-thleme.com -info @sport-thleme.com

HHe are your féfﬂ'w\/ Phone: +49 53 57 181543 - Fax: +49 53 57 181921


http://sport-thieme.com

SPZ)RT-THIEME

Assembly instructions for Art.-Nr. 230 7204 School Sports - Club Sports - Fitness - Therapy
He ae youremn!

1. Scope of delivery

Please check the following content before assembly.

Contents:

1x Aluminium basic frame
3x Guiding roll

1x Accessories

1x Assembly instruction

Accessories:

12x Hexagon socket screw M10 x 25 mm DIN 933
12x Washer @ 10.5 mm x 30 mm, DIN 125

12x Self-locking nut M10, DIN 985

3x Plastic cap 80 x 40 mm

2x Belt strap with buckle


http://sport-thieme.com

SPZ)RT-THIEME

Assembly instructions for Art.-Nr. 230 7204 School Sports - Club Sports - Fitness - Therapy
He ae youremn!

2. Assembly

The following tools are necessary:
- 2 wrench/ring spanners 17 mm
- hammer/mallet

a) Fixing of caps:
Use a hammer/mallet to insert caps in the 3 lateral
openings provided in the basic frame.

b) Fixing of guiding rolls:

Place guiding rolls at welded aluminium plates of
the frame. Adjust holes of guiding rolls and alu-
minium plates. Then stick per roll 4 washers @
10.5 x 30mm on 4 hexagonal socket screws M10
x 25 mm, DIN 933.

Now stick them from the top through holes of
aluminium plates and guiding rolls (see picture
bottom left). Screw from the bottom self-locking
nuts M10, DIN 985 and tighten them (see picture
bottom right).



http://sport-thieme.com

SPZ)RT-THIEME

Assembly instructions for Art.-Nr. 230 7204 School Sports - Club Sports - Fitness - Therapy
He ae youremn!

3. Transport of the goal

Lift the goal and push the trolley under one ground bar between the lateral guiding rails. The balance point has to be in the
middle of the trolley. Fix the bar of the goal with two belt straps by pulling them through the welded plates from the bottom of the
frame. Pull the belts through the buckles and tighten them (see pictures bottom left and right). Then lift the goal at the other side.

It is possible to move in all directions (see picture bottom right). Normally one trolley is sufficient to transport a goal. In case of
big and heavy goals we recommend to use two trolleys which have then to be pushed under both bars.

4. Maintenance and safety instructions
Check screwed fastenings regularly and change damaged and wearing parts if need be.

Take care that sloped surfaces may influence the balance point of the goal so that during
transport you have always to observe the safe position of the goal.

The trolley is equipped with pneumatic-tyred rolls. Please check the pressure regularly.
Notice: Due to our continuous quality check of products and equipment technical modifications are possible.

Only use water for cleaning the surfaces. Do not use alcohol or any aggressive chemicals!


http://sport-thieme.com

